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Denaturation of proteins

2- pH: Proteins can also be misfolded by extreme pH, where the
net charge on the protein will be changed, = an electrostatic
repulsion + disruption of some hydrogen bonding + S-S bonding.
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Denaturation of proteins
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3- Organic solvents such as alcohol or acetone, e clabidly Lyl i
or detergents = disrupting of the hydrophobic S g clall an JKI al Y
interactions + precipitation of the protein. Osodl e e il

Some protein could retain its structure and

function by removing the denaturation agent
and the process 1s called “renaturation”. Denaturation
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Q: Draw the peptide (Ser- Ala-Gln-Glu) and show the
peptide bond and the N- and C- terminus.
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Amino Acids

Non polar/ \ Polar
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Lysine

* Find the pl from
the following
titration curve of Lys
10.5
9.0

[ B
i




Lysine

Solution
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Find the pK,, pK,, pKg
and pl from the following
titration curve of Glu
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il glutamic acid s
Solution
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Cysteine S

14.0 14.0
* Find the pl from the following 120 praj=103 / 120

titration curve of Cys. - :
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Predict how the following amino acids migrate through the the gel electrophoresis?

DC Power Supply
it

[] pl=6.01

' arginine p|=10_77

' Isoleucine p|=602
. aspartic acid p|=280

Snode

0 Buiter

Ionic Matrix pH=6

To answer:

Think what is the net charge of Ala will be at pH 6 if its pl= 6.017?
What is the net charge of Arg will be at pH 6, if its pl = 10.777
What is the net charge of lle will be at pH 6, if its pl =6.027
What is the net charge of Asp will be at pH 6, if its pl = 2.807?



